SN BB
o FAXY 4O B FM(FELXIANL/XHLEAI)
g
=

ol EEAS 2dI|e =F EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
33X S 89,545,298 93,976,006 A\4,430,708
= 972,300
[ 80,049,000
Il 900,000
[ 7,623,998
XS a9 2 S(SEAXXANL/XNAALCAI) 83,065,419 91,728,400 8,672,981
= 80,049,000
) 900,000
= 2,106,419
g3 gD &= 8,520 60,200 51,680
gAY LMW = 8,520 8,600 280
201 et 3| 2,520 3,600 1,080
01 AtR2tc|HI 2,520 3,600 21,080
O3S & HRFX 2,520
202 04l 6,000 5,000 1,000
01 SLHoIH 6,000 5,000 1,000
O&INY &€d gexd 6,000
(SE= PN 76,841,571 90,538,200 13,696,629
= 75,211,000
7l 900,000
=S 730,571
SS9 W (FIXA X)) (=1) 73,161,000 76,028,000 22,867,000
= 73,161,000
403 AXIEHMSAH=201H 73,161,000 76,028,000 A2,867,000
[ 73,161,000
01 AXISHA 22 % 73,161,000 76,028,000 A2,867,000
OS+AEXS HEH(EEXE XH) 73,161,000
[ 73,161,000
Wz E3ato] 2 Z2g 2E(21) 1,350,000 1,300,000 50,000
Jl 900,000
< 450,000
308 AXIHS0IA 1,350,000 1,300,000 50,000
) 900,000
S 450,000
01 HAHHBSEXS 1,350,000 1,300,000 50,000
oMz Eatel 4 T2 )8 29 1,350,000
Il 900,000
= 450,000
XS MefdelXl =4(=21) 2,313,571 564,286 1,749,285
[ 2,050,000
== 263,571
403 AXIEHHSAH=0lH 2,313,571 564,286 1,749,285
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2A:

EEPNRSIn

HE: AN 4o B FA(FEUNAHL/XLUEAI)
(=0 S EEDNIS:) 1=y EER=E)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
s 2,050,000
S 263,571
01 XIS A =22 2,313,571 564,286 1,749,285
S3AXNY MEgelX =4 2,313,571
= 2,050,000
= 263,571
B3NS LAY =& 17,000 37,000 220,000
201 L= 7,000 37,000 /30,000
01 AFS2t2ltl 7,000 37,000 /30,000
OTEZXND HLAY =& 7,000
202 044l 10,000 10,000
01 AL 10,000 10,000
ORI HLMY F=& 10,000
H3XNS dAst Y StAY =& 110,000 84,000 26,000
BZXY A4zt & SSAY FA 5,000 0 5,000
201 L2 3,000 3,000
01 AtR2telbl 3,000 3,000
83X G4z & Sstard =0 3,000
202 044l 2,000 2,000
01 =LHOILI 2,000 2,000
O&EZ XY HAast L SSHAIY =& 2,000
oMz ZAsH &3 &N 60,000 84,000 24,000
307 212t01& 60,000 84,000 24,000
04 QIZFHAIAIE 2 = 60,000 84,000 A24,000
Odzlszd W 220 60,000
Oz Eatol 2 AEc|ed 2H= ME 20,000 0 20,000
308 AXIHMSOIA 20,000 20,000
183 SV 2SS & HASAIE 20,000 20,000
ODWz E3to] 2 AEC|EE 2HI= MZ 20,000
Oz Estol 2 ¢ datsel MHEHE 88 25,000 25,000
201 L= 22,000 22,000
01 AFS2t2ltl 22,000 22,000
onwzgstel 2 & datwel MHENHZE BE 22,000
202 044l 3,000 3,000
01 S| 3,000 3,000
owgEstel 2 & datwel HEHE B 3,000
IS =a8d e 630,300 746,000 A115,700
=AHA MHIA W 240,300 245,000 A4,700
308 AHXIEMSOIH 240,300 245,000 A4,700
01 HREHH B EES 240,300 245,000 A4,700
o&dNS 2 38 2UgL gdat NH 240,300
SHel Y =4 140,000 501,000 /361,000
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2A:

X XH -
o=

=R
BAXI &

&0 & 8
tel: 839 =42d e CEREED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XHXIEMSOIH 140,000 146,000 26,000
PG ENEESS 140,000 146,000 £6,000
OFZIX QA7 £4 140,000
SAAE R 250,000 0 250,000
403 REXIEHH SAHO0I & 250,000 250,000
01 AXIHHA=Z 2L 250,000 250,000
OB AL X 250,000
B3NS FFF e 5,465,028 300,000 5,165,028
2 4,838,000
= 627,028
HIOHE HZNEXNY 2d(22ds5+A HEXFR Z8)( 2,300,028 300,000 2,000,028
=1)
= 2,038,000
S 262,028
403 AXIEHMSAH=0l 2,300,028 0 2,300,028
= 2,038,000
= 262,028
01 A= 2L 2,300,028 0 2,300,028
OxZsdH HEXF =4 2,300,028
[ 2,038,000
= 262,028
HIOFEE HZNEXY Z4(J2EESH(21) 3,160,000 0 3,160,000
= 2,800,000
S 360,000
403 AXIEHMSAH=0lH 3,160,000 0 3,160,000
= 2,800,000
S 360,000
01 ARt AH22 £ 3,160,000 0 3,160,000
OHIONE BAHEXS X8 (YBYE3}) 3,160,000
= 2,800,000
= 360,000
B3NS e K& 5,000 0 5,000
201 2= 2,000 2,000
01 AtR2telbl 2,000 2,000
OBANY BFNM ¥2xT 2,000
202 04| 3,000 3,000
01 =LHo1H| 3,000 3,000
JAXY FFNH 2LFA 3,000
S UBK| YASHNAE AF (LSBT /L) 1,437,100 2,195,342 AT58,242
= 972,300
= 464,800
galsg Jlgtxrd 907,000 1,638,400 AT731,400
= 600,000
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A B3NS

B Sol AHT| YASENXG AE(LUDDHE/AUHE)
el gatse Jlgtxd (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2

< 307,000

SIS BHMER 24 7,000 0 7,000

201 fet= 3| 2,000 0 2,000

01 AtR2te|HI 2,000 0 2,000
O&EXNS BNST =4 gFF4 2,000

202 04| 5,000 0 5,000

01 =LHO LI 5,000 0 5,000
O&XNS NS &4 g2 5,000

29 Y oA dH 831 £ 2Y(312) 900,000 1,625,000 AT725,000
= 600,000
< 300,000

101 @124H| 90,000 0 90,000
= 90,000

M ORNZZ2NSE S 90,000 0 90,000
OSY SciA dE 2 22| 90,000
= 90,000

201 2= 210,000 0 210,000
= 210,000

03 A= SHI 210,000 0 210,000
O8Y EciA WY T2 24 210,000
= 210,000

405 AtatE = 600,000 0 600,000
= 300,000
< 300,000

01 ML ESFSHI 600,000 0 600,000
OSg SciA df 2 =4l 600,000
= 300,000
= 300,000

Set0IE=0! atgt Jlgt &4 530,100 528,942 1,188
= 372,300
=S 157,800

SE0IgFe N9NSHE 29(=21) 361,000 331,000 30,000
= 361,000

307 @I2to| & 361,000 331,000 30,000
= 361,000

10 Al SXAAEEHE 22X 361,000 331,000 30,000
OSe0lg=2 XGHSHH 29 361,000
= 361,000

SeoIgFeXd XAgos XNA(=20) 4,410 7,000 22,590
= 4,410

308 AXIHMSO0IA 4,410 7,000 A2,590
= 4,410
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A B3NS

B So AHT| YASENXG AE(LUDDHE/AUHE)
Chel: SBH0|ZF0I BlE B R4 (12l M2
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 AXEHNBELES 4,410 7,000 A2,590
O=eoIg==2INE NHE2s A 4,410
= 4,410
SEOIE==XY XA s 2Z(=0)(2E) 6,890 11,000 24,110
= 6,890
201 fer= 3| 6,890 11,000 A4,110
= 6,890
01 At2tltl 2,200 2,400 A200
O=eoIE=F2IXH N2 HAl 2,200
= 2,200
03 Ar=EHI 4,690 8,600 23,910
O=eolg=2l JA - 23 S 4,690
= 4,690
g5t =0 SSHA S 5,800 1,400 4,400
201 2= 1,000 1,400 A400
01 At2t2lt] 1,000 1,400 2400
SEOIE=0 laid g5 X2 1,000
202 04l 4,800 0 4,800
01 =LHA LI 4,800 0 4,800
OuUFIE g 4,800
Se0Ig=2 458 35 XN& 122,000 128,542 26,542
307 @120l & 77,000 78,000 1,000
02 QB HANEEX 77,000 78,000 A1,000
Oo=stolg=a =D &8 =23 A 2,000
Odfi &M AAt2S W WSS 75,000
308 XXM SOIA 45,000 50,542 N5,542
01 XN B2 LS 45,000 50,542 5,542
O=eolg=2l =t XH & FHEANAS F
s K& 45,000
HEXGARS N JISES 30,000 0 30,000
403 AXIEHMSA=Z0l1d 30,000 0 30,000
01 HXIHHA 22 30,000 0 30,000
OdliEZPAI2EI W AlE & HH 22 30,000
Y2 ZHI(ZA XS ) (OIEHIIE) 52,779 52,264 515
Jl=3H| 52,779 52,264 515
2A29 J1=2dhl 52,779 52,264 515
201 er23 | 36,719 37,946 A1,227
01 AtR2te|Hl 36,719 35,946 773
OF N2 AtF2clll 36,719
202 04| 11,260 9,518 1,742
01 2LHAH| 11,260 9,518 1,742
FAEE =W 11,260
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£A: 33X
A HE2HHHI(HEZXISED) (OIEHIIE)
o2 J|=Z|
— - -|l|_j
SA - ZB . 9(B) - NIRA - BaS e
203 PRF=&H| 4,800
M4 FA2ILSFAL 4,800
©30¢2! 0I5t
HRES(HEXGI) (ZELXSINLY/KSLEAI) 0
LHEHe XI= 0
B NALHESESIA XA 0
701 DBt HISHES 0
01 JIEISIHEEZ 0
OEZXNALNELSN HES




O

2024

od
i’
oF
uJ

8188|8188 818|8 S 18
Sla|el|e|2|e S|x|S < S
i (@)
n 1S|18|18(8|8|8 g1812 8§ |88
E&&&AAA =
D
O|lOoO|OoO|O|O|O (el Nl Ne] o o | o
LH3r
<l
RIS
8138881818 88 88 38888 8 38|8|8 S 8
Slelelelele & & 8 5 glgxn|g & ® NN & S
O O MO ™
g|1g8|8|8|8|18 8888 8|8|8|=E =8 8|88 €8
M Olwlv|s || — — | =
<
=
m
or ~ . 0
0 == X0 0 BN
Y W= K K W
: o 58 b it o Noa
) B yr W K r 5w AR
= Sl w K w e w2 R o
Ik ol |y S RO B0 <1 | o S ! g A
=z =~ |3 SRR = g oy — JF -
. = Sk o= WS ur & X 5=
= Bl 22w B nw e ® o
a T I E O T T o o T Py T T
s U e e e O = 4 s O T T
& S HEIRIE RS ow|g|c|Qn 3 _|RW g
Ol < O 2R Ujo | ®o S ol [UW|R a
U o |@ (U |5 [ o B W o0 Ky (= | g Sl = o r
. e B ol = = A B el = U ol s S
anl = | % R & E|o)|o) M R
& RUGG | R e o = o|P|T|Y 5 H P I =
=0 — m | K | K OFJ GA.U_ t._)_l = X0 ol | K [ K R0 ~ W K |< W-E.._ [0
K oI5 [z | ® ® o0 o) M |R|= B [ == ) RD
LIS R | S S
I |3 |=|Ro|RD Rl
R | R |[RD
Ik

KD

- 245 -



